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���� .HVLPSXODQ

$GDSXQ� KDVLO� SHQHOLWLDQ� SHQJXMLDQ� NXDW� WHNDQ� EHWRQ� PXWX� WLQJJL� GHQJDQ�

PHQJJXQDNDQ� YDULDVL� XNXUDQ� DJUHJDW� NDVDU� ��PP�� ����PP GDQ� �����PP� DQWDUD�

ODLQ�VHEDJDLQ�EHULNXW�LQL�

�� 1LODL�NXDW� WHNDQ�EHWRQ�PXWX� WLQJJL� VHWHODK�GLODNXNDQ�FXUULQJ� SDGD�PDVLQJ�

PDVLQJ�YDULDVL� XNXUDQ�DJUHJDW�NDVDU�SDGD�XPXU� ��KDUL�� ���KDUL�� GDQ���� KDUL�

VHFDUD� EHUWXUXW�WXUXW� GHQJDQ� YDULDVL� XNXUDQ� DJUHJDW� ��PP� VHEHVDU ���03D��

������03D�����03D� XQWXN�YDULDVL�XNXUDQ�DJUHJDW������PP�VHEHVDU����03D��

�����03D�������03D�GDQ�XQWXN�YDULDVL� XNXUDQ�DJUHJDW������PP�VHEHVDU� ���

03D�������03D�������0SD�

�� %HUGDVDUNDQ�KDVLO�SHQHOLWLDQ�NXDW�WHNDQ�EHWRQ�PXWX�WLQJJL�SDGD�YDULDVL�XNXUDQ�

DJUHJDW� NDVDU� � ���PP�� ����PP GDQ� �����PP�� GHQJDQ�PHQJJXQDNDQ� EDKDQ�

WDPEDK�VXSHUSODVWLFL]HU�PHUN�YLVFRFUHWH ���� GLGDSDWNDQ�KDVLO�EDKZD�XNXUDQ�

DJUHJDW������PP�DGDODK�XNXUDQ�\DQJ� OHELK�EDLN NDUHQD�PHPLOLNL�NXDW� WHNDQ�

EHWRQ�OHELK�WLQJJL�

���� 6DUDQ

$GDSXQ� VDUDQ� \DQJ� WHUNDLW� GHQJDQ� SHQHOLWLDQ� DJDU� SHQHOLWLDQ� VHODQMXWQ\D�

VHVXDL�GHQJDQ�\DQJ�GLKDUDSNDQ�VHEDJDL�EHULNXW�LQL�

�� 3HQHOLWLDQ� VHODQMXWQ\D� GLKDUDSNDQ PDPSX� PHQJJXQDNDQ� VXSHUSODVWLFL]HU�

GHQJDQ�NDGDU�VHVXDL�VSHVLILNDVL�OHELK�ODQMXW�

�� 3HQJJXQDDQ� EDKDQ�PDXSXQ�PDWHULDO� \DQJ� OHELK� EDLN� DJDU� KDVLO�PXWX� EHWRQ�

\DQJ�GLUHQFDQDNDQ�GDSDW�WHUFDSDL��

�� 3HQFDPSXUDQ� EHWRQ� GLODNXNDQ� VHFDUD� KRPRJHQ� GDQ� SUHVLVL� VXSD\D� VDPSHO�

WLGDN�DGD�\DQJ�UXVDN�

�� 3HUOX�GLODNXNDQ�YDULDVL�WDPEDKDQ�EDKDQ�DJDU�GDWD�\DQJ�GLSHUROHK�OHELK�EDLN��

�� 3HQJJXQDDQ�YLEUDWRU�SDGD�VDDW SURVHV�SHQXDQJDQ�FDPSXUDQ�DJDU�EHWRQ�WLGDN�

EHURQJJD�VDDW�GL�ODSDQJDQ�



��

�� 3HQHOLWLDQ� VHODQMXWQ\D� GHQJDQ� EDKDQ� WDPEDK� VXSHUSODVWLFL]HU� GLKDUDSNDQ�

GLODNXDQ�PLQLPDO� �� RUDQJ� DJDU� KDVLO� RSWLPDO� XQWXN�PHQFDSDL� EHWRQ� GHQJDQ�

NXDOLWDV�\DQJ�EDLN�


